Sr Questions Answers Choice

A, @S o s
NOESE™
BEESTS
iniaall o) sus

1 = O S Gl GGl e (B s g seinse (538 50 1S Dy e 0K,

BEESTE
addll s ) g
ol oy s

(DAY oy g

2 o Sall deSu ) o 0SS Osi)se S alus e A s gl ald 0 S 8,

Osiesall o)) s
Gl A e s
all o s

~iniaall o) g

3 2 BUS il 18 ) g (€ S gl o) 5

Clia (S s

CueSla (S et
a5 (S (a3
Calan g (S a3

4 =BS5S e sl oy m,

Yl s
o5l o) s
o3iall o ) sus
~iniaall o) g

5 = B8 el S (S e (JaS ) Ao G paa e D s o 05

70
80
90
100

6 SSodls S8 255 e 5O Mol R e ol o 5508 e (S ) 05 il Sy S s,

100
90
80
70

7 25 ila 8 258 S st s S U5 s Ui s S8 U5 Gllae S sl o su

32
33
34
35

8 =08 S Giland 5 e S B S o S5 e Sl o 08 (S sl 05

RN
08 S sl
8 S e

e A il gl o

9 2ol (S Sedah Golal e

Gbilia (S Caac ¢ Cide
Glaie s A

= e

s

22
23
24
25

10 s O Sl (padld (e 13 (S )l o) s

1" = s o 0SS DA D e g,

C"“Q:‘JL’
o
=

alle s
Al o) s
Dslle ) s

Ll s gus

12 o8 2 i S Jlee) S 5 A8,

13 2B Sa S S 2 el S Ushse sl U5 e s o S,

62
14 G S S U8 (S sl o

15 o =K Sy cliyl yasaia B S S T (e il 5

COowP» CUOW P DOWP UOUP UOWP UOWr UOWP UO0WP U0Wr 0O0WP U0UP 0UOWP U0Wr U0WEr 0DOW



16

17

18

19

20

21

o e b e 0sS Ol o5

LS e S el Sy S gl o ] gy e O pinn,

= Sl (e gl gm0 S 5 S B,

e sS0 e sl oy g

= s Grsnon (S ma O 8

= B8 S5 1S gl 58 (S Mt

oow

o0Ow

B.
C.
D.

oW

ow» Do
oo ~NO®

18

.21

a0 s

Ciiall o ) g
Alalaall s g

ChylS 2y S jad
iy s s
N S

. Osiesall o) 5
RECTIS
S FST™

IR
e pdall o5
e il 6 5 gus



